knacc/pata | 5 ceH| 6 ceH| 7 ceH| 8 ceH| 11 ceH| 12 ceH| 13 ceH| 14 cen| 15 ceH| 18 ceH| 19 ceH| 20 ceH| 21 ceH| 22 ceH| 25 ceH| 26 ceH| 27 cen| 28 ceH| 29 cen
2a mat My3 oM T O] PA TexH maTt
26 mart My3 ®K oM T TexH |PA mat
3 PA aHrn vt mar TexH oM PA my3
43 PA aHrn  |mart maTt
46 oM anrn |PA PA PA oM
5a T PA PA PA 6uo mat maT DK oM
56 amT PA PA PA mat ncT mat mat (0]\Y]
6a T Hem uct PA obu, [mar PA OK
66 T Hem ucr PA obw, |mat mart aHrn  |PA
7a ucT Hem mart obw, [nuT PA mart 6uo mart mart
76 nucr aHrn  |Hem PA obu, |6buo PA mat
mart /
poAa.nm

8a T ¢un3 Hem |TexH |PA mart nud  |OK PA T obw, |6uo dus
86 OBX |dpu3 mat TexH |obw, [|aHrn |uH  |auT PA PA maTt buo dus
9a mar MHO  |anT Hem ncr OBX |PA PA mart obuy,
96 Hem  |maT OBX |awrn  |auT UHO  [mcT XM PA PA obuy

mart UHP UHP
10 aHrn npaso | ¢$m3 |obw, [xum [(6,y) [mcT PA (y) OBX |(6)

mart MHG  |[MHP  |Buo

11 T uct (y) | npaso [(y,6) |PA(6,y)](6) (y) (6,y) [wuct(6) |OBX |obuy PA (y)




kKnacc/pata | 2 okt| 3 okT| 4 oKkT| 5 oKT| 6 oKT| 9 oKT| 10 okT| 11 okT| 12 okTt| 13 okT| 16 okT| 17 okt| 18 oKkT| 19 oKT| 20 oKT| 23 oKT| 24 OKT| 25 OKT| 26 OKT| 27 OKT
2a PA maT
26 PA mat
3 mart PA aHrn  |aHrn  |mat aHrA  |aHrn PA
43 aHrn aHrn aHrn  (PA
46 mar PA aHmN PA T PA aHrn
5a maTt PA Hem Hem maTt
56 mart HEeM aHrn  [mar aHrn  |aHrn
6a PA 6uo ucT Hem PA maTt Hem
66 PA 6uo ucT PA Hem maTt aHrA  |aHrn
7a PA Hem maT
76 aHrn aHrn  |aHrn
8a mar mar Hem [aHrn mat
86 mart mar aHrn  |aHrn  |aHrA  |aHra [mar
9a OK  |mar ¢un3 PA maT UHO
96 ®K  |mar ¢u3 PA aHrn  |mar PA aHrn  |aHrn  (MH
MHO aHmn
10 T |(y) 6uo |PA ®K maT XMM aHrn  |aHrn  |uHd (y)|mat PA (v)
mar mar
11 (y) (6) PA (y) |xum (y)]acTp aHrn  |anrn  [mat (y) [maT (y) [aHrn




Knacc/pata | 6 Hoa| 7 Hoa| 8wHoal 9wHoal 10 HoAa| 13 HoA| 14 Hoa| 15 HoAa| 16 Hoa| 17 Hoa| 20 HoAa| 21 HoA| 22 Hoa| 23 HoA| 24 Hoa| 27 Hosa| 28 Hosal| 29 Hoal| 30 HoA
mar,
aHrn
2a TeXH maTt aHrn PA aHrn
26 mat aHrn PA PA
3 maTt aHrn mart PA
43 aHrn aHrn maTt PA
46 PA aHrn nut maTt oM aHrn PA Tt PA T
aHrn,
5a T PA maTt Hem Tt
mar,
56 aHrn PA PA mat PA
mar, T,
6a aHrn maTt aHrn PA aHm PA PA
66 maT T PA PA PA
7a mat PA nHp aHrn
76 PA NHO
8a XUM PA aHrn o6,
mar,
86 aHrn T XUM PA aut 6uo reo
aHrn, |mar,
9a PA XUM T 6uo reo
nHob, PA, 6uol(y),
96 aHmn XUM T 3KOH |[npaBo
10 maTt PA mart PA NHO reo
11 mat(y) mat(6) [mat(6) | xmum(y) PA (y) mat(y)




knacc/pata |1 pek| 4 pek|5 nek| 6 pek| 7 pek| 8 pek|11 pex| 12 pgex| 13 pgek| 14 pnek| 15 pek| 18 pek| 19 nek| 20 pek|21 pek|22 pex| 25 nek| 26 aek| 27 aek| 28 pek| 29 pek
Mmar,
2a mart ®K my3 Tt PA oM aHmn
P4,
26 mart my3 TeXH |uT oM mar aHmn DK
aHrn, |awHrn,
3a ®K TexH |aHrn |PA Tt mys3 mar oM PA aHmn
4a maTt PA aHrn  [PA aHrn mar aHrn aHrn
PA,
46 aHrn  (aut oM oK aHrn  |aHrn aHmn
5a nucT TexH |mart aHrn  [6uo aHrn PA Tt Tt aHrn  [®K reo
56 TeXH PA nucr mat 6uo aHrn  |aHrn aHrn  |auT aHrn  |®K reo
mar, T,
6a mar o6, PA ncr PA aHrn  |aHrn  |reo aHrn |PA mar OK T
reo,
66 mat Pa O] obw, |ucr mat PAa T T PA mart
poa.nu
7a reo nucr reo PA T aHrn  [6uo aHrn  [mat obw, |PA mart oK
76 et |PA reo PA aHmn buo obuw, |aHrn |aHrn obu, [PK
poa.nv(obuwy,
8a nucT UHO OBX | wuct T aHrn  [6buo PA aHrn  |aHrn  |reo DK
UCT, T,
86 UHO O] XM OBX 6uo T PA aHrn  [reo aHrn  |obw, [|aHrn |aHrn
O,
PA, T, aHrn, (M, [mar, mar,
9a mat obw, [OBX XM nct PA aHrn aHmn reo 6uo oK
Ps,
XUM, T, UHO, mat, |aHrn,
96 mart obuy, OBX oor ncT PA mar aHrn  |aHrn reo 6uo aHrn  [®K
10 XMM maT ucrt PA OBX reo o6l UHo(y) |npaso [6uo K
mar(y),
mat(6),
xum(y), mar(6)
PA (y), [wcT, acTpoH [MHO(6) [maT(y), |, xum(6)
11 npaso PK aHrn  |aurn |, OBX |, 06w, |aHrn |uHO(y) ,reo  |3KoH




